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( C )7.Theratio of A, B,and Cis 2 : 3 : 4. The average of them is 120. Then A+C =?
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4. As shown in the figure, the area of the regular dodecagonal is 36 square centimeters. The area
of the shaded part of the figureis @ cm’.
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3. In graduation trip for class 601, Teacher Zhang assigned a room. If four people sleep in a
room, there will be four people more than the number of rooms. If she changes five people to
sleep in a room, there will be one more room. How many people will they take a graduation trip?
(12 #)
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(4+5)=(5-4)=9
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